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S #4 board[9][9]:

char board[9][9]={{'5"','3"','4','6','7"','8",'9",'1"','2"},

{'¢','7','2','12','9','5"','3','4",'8"'},
{1,'9','8,'3','4",'2','5','6"','7"'},
{'8','5','9','7','6"','1','4",'2",'3"},
{'4','2','6','8','5",'3",'7','9','1"'},
{7,'1,'3','9','2"','4",'8','5"','6"},
{'9','6','2','5"','3"','7','2','8','4'},
{2','8','7','4",'1','9','6','3",'5"},
{'3','4"','5','2",'8','6','1",'7",'9"'}};




int board[g][9]={{5J3)4)6)7)8)9)1)2}J
{6)7)2)1)9)5)3)4)8}:
{1)9)8)3)4)2)5)6)7}:
{8)5)9)7)6)1)4)2)3}:
{4)2)6)8)5)3)7)9)1}:
{7)1)3)9)2)4)8)5)6}:
{9)6)1)5)3)7)2)8)4}:
{2)8)7)4)1)9)6)3)5}:
{3,4,5,2,8,6,1,7,9}};
B HAS A H R:
534 | 678|912
672|195 ]| 348
198 | 342|567
g50|761]| 423
426|853 | 701
713 | 924|856

2. BEHLER— 9X9 IR STRAIAER :
ER:
HAWATE—ANICE x WHEN: 1<=x<=9;
BHEATIVE A EAMERET x (x€[1,91), HABL B T 0 5
FERF T (BT ATk 3 T B IE R R AD:
> BT 134T AT 159 RETAE M 9 MT, 4-6 4TR1 7-9 AT 43
SR
> A TSI AR AT i R
RoR:
)RR B AT HH, AT — SR
2) BENLETLMER rand O BREAERL, rand O BRI SK SO A <stdlib. h>,
rand () %10 g 7] ABEHLAE BC— A 0-9 2 [A] %L (L5 0 A 9);
3) —RAEFEFFBATIFAARS, £ srand (time (NULL) ) bR 5 25 B B AL R
F, I 2 PR BRI AR R, 5 BRI B AL AR R - AR R Y




time (NULL) 23R [A] 24§ (RS 1], srand (time (NULL) ) 536 745 FH 24 BiF ) B

[E/E 9 BEN LR T, time (NULL) p&

B3k SN <stdlib. oo

B Sk et ~<time. h>, srand() B

el

4) —REEANEF R T BTG FIRHE S — Ik srand (time (NULL) ) 5847

EIPSIE EIR S
A 2 1) A BEAS A 2R,

THEEARHE R,
BT BAE — AR 2 0 2% 07 1545 B

2 WEtIZAT5E M 1, T time () BR

I TRLER S —FRR, PR, Ayt — R, BENL S T

Bl

/*—> rand () EREA srand () 715 * /
#include <stdio.h>
#include <time.h>
#include <stdlib.h>
int main(){
srand(time(NULL));
for (int 1 = 0; i < 10; i++)
printf("%d ",rand()%10);
return 0;

}

Output:
484163596038
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| .2.]1.86]...]
le.8]...]..5]
| . | .34 .7 .|
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| .. .23 ] .1,
| .57 ...186..]
l4..]..9].8.

| --mmmmo oo |
| . .7]...] .18

| e ... ]8..]
| . .3 .42 ...



3. FIBI— M AEBIEMRRRE “BIRER" BIEX:
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HCF 129 fER AT R BEIL U, SRR TR 0 8 1 s
HCF 1-9 1A FIRS HAEMIL K, A5 b

By 1-9 R HORIF Sx3 MAREN S I, R
ST I

STHL BRI 3x3 BRI AT 5

EZ
EZ

2 . 1.6
=] A 5
. 34 7
. 23 1
57 .. &
4 . .9 3
7 . .15
= .. 3. .
3 4 2

RN, Hidh “The original Sudoku matrix: 7

SR, AT 2 RSB s A BT, A R A T R B

W 2 e UTE, it “True:Valid initial Sudoku matrix!”;
SR AN A 8 HITE, S “False: Invalid initial Sudoku matrix!”,
AN 2 M ERE, il “The number 1 in the col 6 has been
used!”, B(#F “The number 5 in the col 1 has been used!”, B#
“The number 3 in the block 2 has been used!”. Z3HlEIR, FF 1
FEER 6 AT ZUAEH: Hr 5 E5E AT 2 AER: B 3 5 24 3x3 |
HERENZ AEH . AR RETREA 24, RRE R — A RA] .

AR L £, e R BOm B T B 1 S FEhE X
AL, SR TEIRE, 1T LURE ST R 4 Hh RS X
T AV, FE LR O, B — i R 2 A < B
HEE” B s



® UIRAHRE, MG RAAifa i B IE NS %
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char boardo[9][9] = {{'5", 3%, '.', '.', ‘7', ., ., ., '),
{'6"', ".', ".t, 1Y, '"9', '5', "', ., 'Y,
{".", '9", "8", ., ., .ty L, e, Uy,
{'8", ., ., .ty e, L, Lty L, "3,
{4, ".t, "o, 8T, ., 3, L, L, "1y,
S/ - I
{".", "6, .ty o, oty a2, 8, Uy,
e O - T O
(L, L, e, e, L, L, T, 19 Y )
char board1[9][9] = {{'8", 3%, '.', '.', ‘7', ., ., ., '},
{'6', ".', ".t, 1", '"9', '5', "', ., "',
{".", '9", "8, ., ., .ty L, e, Uy,
{'8", ., ., ., e, L, Lty L, '3,
{4, ".t, "oty 8T, ., "3, L, L, "1y,
S /2 - I
{".", "6, L.ty oty oty a2, 8, Uy,
S O - T U
T Y- LU UL AT -TR O ¥
int boarde[9][9] = {{5, 3, @, @, 7, 0, 0, 0, 0},
{6, 0, 0, 1, 9, 5, 0, 0, 0},
{0, 9, 8, 0, 0, 0, 0, 6, 0},
{8, 0, 0, 0, 6, 0, 0, 0, 3},
{4, o0, 0, 8, 0, 3, 0, 0, 1},
{7, 0, 0, 0, 2, 0, 0, 0, 6},
{0, 6, 0, 0, 0, 0, 2, 8, 0},
{0, 0, 0, 4, 1, 9, 0, 0, 5},
{0, 0, 0, 0, 8, 0, 0, 7, 9}};
int board1[9][9] = {{8, 3, ©, 0, 7, 0, 0, 0, 0},
{6, 0, 0, 1, 9, 5, 0, 0, 0},
{0, 9, 8, 0, 0, 0, 0, 6, 0},
{8, 0, 0, 0, 6, 0, 0, 0, 3},
{4, o0, 0, 8, 0, 3, 0, 0, 1},
{7, 0, 0, 0, 2, 0, 0, 0, 6},
{0, 6, 0, 0, 0, 0, 2, 8, 0},
{0, 0, 0, 4, 1, 9, 0, 0, 5},
{0, 0, 0, 0, 8, 0, 0, 7, 9}};




wn EEANEH T, boarde HIPHATE R N :

The original Sudoku matrix:

53, .7 ..
6. .1%95 ., ..
= I
3 . B 3
4 . 8.2 1
7...2...08
O - T -
418 . .5
.. .8 . .78
True:Valid initial Sudoku matrdix!
1M boardl FIFAT LR N :
The original Sudoku matrix:
83 . .7 ..
. .195, ..
= T
g . B, 3
4 .8 .3 1
.. .2 .. .8
LB .. .28 .
419, .5
.8 . .78

False:Invalid initial Sudoku matrix!
The number 8 in the block 1 has been used!



4. S—AREEE B HITHIN, MRHR HORER" N5,
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“CHOMFERE” 1€ SRS = AN € X

SEREN “BOMAERE” —E R CBOMHERE” 1E X

FEFEIF4RI, %t “The original Sudoku matrix: 7

SRIE A8 SRR A A R R s, i e R T B

In i 2 5 U, B “True:Valid initial Sudoku matrix!”:

<> UK R BA i, NS H“ The solution of Sudoku matrix:”,
P4 HH e 70 50 R 1 O R R

S WREE KA KIBA RER . “No solution!”,

AN RN L 5E S,

>1 S “False:Invalid initial Sudoku matrix!”;

2 TEEH AN R, BARERE 5 =8 K 4);

>3 gkt “No solution!”,

—ATERERE Ry RIS ) A —E R TR

AR AR s, ASEEEN “BOMFERE” AT H B F3hE X
—ANEA, KA TFEIRE, BT DU RIS o g R EE E X
FEFFEA R “BOMIERE” e, RN ZIRIRES CREETE 1A
HO GRZHRNIZ A B AL “BOMIERE” 10 SR, B A RE P 2355 1R
MR RE ST, BRATEI IR AN 2 “BORERE” €
X

WRA W E, ORI R A 25RO R R RN S

WAL boarde[9][9]41 board1[9][9]", boardo[9][9]ii & “%ih
FERE” HE X HAMR: boardl[9][9] A2 “HIMAERE” HIE X, AR
board2[9][9] WA “CHOMERE” B SUE A R



char boardo[9][9] = {{'5",
{6,
£
(s,
{an,
7,0,
£

char boardl1[9][9] = {{'8',
{6, ",
.
{8, ",
{ra,
{7,
.

char board2[9][9] = {{'5",
{6, ",
.
{8, ",
{rar,
{7,
.

3
‘1),
6"},

5},
9'} )5

3'h
‘1),
'6'},

5
9'}}s

3')
‘1),
6"},

5
9'}}s




int boarde[9][9] = {{5, 3, ©, @, 7, 0, 0, 0, 0},

{6) e) e) 1) 9) 5) e) e) e})

{e) 9) 8) e) e) e) e) 6) e})

{8) e) e) e) 6) e) e) e) 3})

{4, 0, 0, 8, 0, 3, 0, 0, 1},

{7, o, 0, 0, 2, 0, 0, 0, 6},

{e) 6) e) e) e) e) 2) 8) e})

{e) e) e) 4) 1) 9) e) e) 5})

{e, 0, 0, 0, 8, 0, 0, 7, 9}};

int board1[9][9] = {{8, 3, ©, @, 7, 0, 0, 0, 0},

{6) e) e) 1) 9) 5) e) e, @},

{e) 9) 8) e) e) e) e) 6, @},

{8) e) e) e) 6) e) e) e, 3})

{4, 0, 0, 8, 0, 3, 0, 0, 1},

{7, e, 0, 0, 2, 0, 0, 0, 6},

{e) 6) e) e) e) e) 2) 8, @},

{e) e) e) 4) 1) 9) e) e, 5})

{e, 0, 0, 0, 8, 0, 0, 7, 9}};

int board2[9][9] = {{5, 2, ©, @, 7, 0, 0, 0, 0},

{6, 0, 0, 1, 9, 5, 0, 0, 0},

{6, 9, 8, 0, 0, 0, 0, 6, 0},

{8, 0, 0, 0, 6, 0, 0, 0, 3},

{4, 0, 0, 8, 0, 3, 0, 0, 1},

{7, e, 0, 0, 2, 0, 0, 0, 6},

{6, 6, 0, 0, 0, 0, 2, 8, 0},

{6, 0, 0, 4, 1, 9, 0, 0, 5},

{0, 0, 0, 0, 8, 0, 0, 7, 9}};
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= 1 LM 1 (nal = 1 (%]} 1

R 1 1 1

[ T N =1 [ = = Ca

T 1 1 1

= 1 = 1 [} 0 1 0 1

[V 1 1 = 1

| o | e s | s |

= 1 1 1 1

Mmoo ca o = . 1
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== [ s (%3] I - - [ ] I

=TV | 1 1 1

Fr o A ™ Y = T T T v T~ o eS| . !
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The number 2 in the block 1 has been used!

False:Invalid initial swdoku matrdix!
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R R e T T e B |
wooo 1 1 1

=T T < I N T I I A T SR B = VI I |
— O 1 1 1 1
Hr_..__?ﬂ.,_ﬂ._ﬁrjz_j:_..l_oa_
Ll 1 1 1 1
e =L Y = R B o T T e = T B O L Y Y A
= 1 1 1
[ | o | s s | s e |
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Lo I T S o O+« T AT Y T I A S ¥ |
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— = ] ] ]
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The original Sudoku matrix:

-
==
e
— — — — — ———————— ]
1 1 1 1M
! LR R T B o | [ S T T =
1 1 1 1
! = = = B =~ 1 3
1 1 1 [
1 = LI T Y [
1 1 1 [ -1
| oo | e s | s e |
1 1 1 [T |
1 LM 1 [ I (%1} 1
1 1 1 [
L e [ = — O H
1 1 1 [
1 = 1 [+ I 1
1 1 1 = [T
| oo | e s | s e | (D
1 1 1 [T
1 LR v+ I LI . 1
1 1 1 [ =
[T = R o R P s (=
1 1 1 [
[ S = [ = I o L] 1
1 1 1 [

True

Mo solution!
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